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( A )1. Calculate the exact value of (379+379)x5007?
(A) 379000 (B) 397000 (C) 558000 (D) 548000
BEHT + 379X 2X500=379 % 1000=379000

( A )2. If sin@ isone root to this equation 4x* +4x-3=0, find cos26.
1 1 1 1
A) = B) —= C) = D) —=
(A) 5 ® -2 © 3 (D) 3

F:E - BsindRAZ +4x-3=02—1R » Blcos202BRZD <
1

BRAT ¢ 4X? +4x—3=o:>(2x+3)(2x—1):o:>x:_—z?’gzx=E

B¥sin g = 1, Pk cos20 =1-2sin? 6 =1- 2(})2 1
2 2 2
( C ) 3. When John goes out, he has the probability of not bringing his
umbrella home averagely once per 5 outgoings. One day, John went
to visit Mr. A,B,C by sequence. He found he forgot his umbrella again.

What is the probability that the umbrella is at Mr. B’s house?
10

15 20 25
(A) 61 (B) 61 (C) o1 (D) o1
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BB : POAE B | 76)= T - 61
(T \/u) }+ﬂxﬁx1 25+20+16 61
5 5 5 5
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( B )4. 3Kcos65°sin110° +c0s25°sin20° = ¢ (A)% (B)% (C)g (D)1

BEAT + P3RS c0s65°sin(90° + 20°) + cos(90° — 65°)sin 20°

=€0565°c0s20° + sin 65°sin 20° = cos(65° — 20°) = c0s45° = %

C

( D )5. ERUGEN ABCD RER—B X W68 - Ed D
|

AB=BC=3'CD=5"' DA=8'3XBDZEK"°
(A) 4 (B) 5 (C)6 (D)7 &
BT - B 2«A=60 Bl ~,C=180°-4 °
BUBD =3%+8% —2x3x8c0sd =3° +5° —2x3x5c0s(180° — )
— 73— 48c0s6 =34 +30c0s0 ° ?%cow:% ,
S%ﬁ)2=73—48x%:49 ' 18BD=7 °

( B )6. 5tE cos1®°+c0s2°+---+€0s179°+cos180°=
(A) O (B) -1 (C) -2 (D) -2
BEAT : *." cos(180° — ) =—cosd
.. €0S179°=—cosl® » c0s17/8°=—-c0s2° » --- » c0S91° =—-c0s89°
15 c0s1° +€0S2° + - - - + 0s89° + c0s90° — 0S89° — - - - — C0S2° — C0S1° + c0s180°
=C0s90°+c0s180°=0-1=-1

( D )7. EBHE—BBIE LR SERILSRDE 50 ARE - BFIEF/S
ST » —BRIFERAE 0 RSB MmIRERE 050 « BULLE
hEp B H B RHBNAR » (STBHUE ¢ V2 =1.414214)

(A) 35 (B) 43 (C) 50 D)71 AR

AT IR ERUGERE

50
AIFR R —— = —
sin45° sin 30°
J2x =100 » x:@:5oﬁ
J2

Xx=70.7" "D
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( B )S8. sin¢9+cos€:%’Esin6’>0’3}?cose=‘?

2 3 4 1
(A) 3 (B) 3 (®)) "5 (D) "5

) 1 ) 1
AT - sin@+co0s@)? = — = 1+2sin@-cosf =
D ) =557 25

’ .'.sin@-cosH:—z— ------ D
@-.'sin@>0 .".cos@<0 Qsinezé—cose
. e, 1 12 , )
1J§7\®1ﬁ(g—COS(9)COS(9=—2—5 ..25¢08? @ —5c0s0 —12=0

. (5cos@+3)(bcosd—-4)=0  "."cosfd<0 .‘.cosé?:—g

1 .0
( B )9 E%[]tane_g ;Ktaniz,
(A) v10+3  (B) ¥10-3  (C) % (D) V10 -1

Y
/N

BEHT : r=4/32+21> =410 ?
5 1

0 _ _ 3
tanE r+3 =10-3 \M

( A )10. 2R 12 BERPE 4BFReR  SZERE » AIREEISE 586 @ &

N

> X

R 3 1E]Z<Eu:c’|2ﬁ%$% ?
14
Bis @5 O g

BT : 3B 5 RIRHISIE : X 12 BB 4 TE=MB8 R

BI4XRB2R ' 2AR B5RTBEXE 3R
H_J
KW 2 XE < B

BI4RE2RE iJZ/%%Z/%TE 5 R& 1 & 1 RAR

—(%'& _(E) _m e / ACF)

C4><— — C2 —><—><Cl><—
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_E\ﬁll\“\z S R 14
727 = 1o, 9,8 165
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( D )11 BN —4x* -3x* +x+1=07F NI MBS EEEEIR <
(A) -3 2 2fF (B) —2£2-12f
(C) —18d 0 2 (D)0 Ed 1 2
R BE(X) =x* —4x> =3x" +x+1
= f0)=1 f()=-4=fO0)f@D)<O
BEMREE N = f(x) =0 082 1 CREAEDB—EBR - .3 ED

( D )12. MEBAFIN(@1.25)">10" IR/ NEEE#S ¢ (log2=0.3010)
(A)70 (B)71 (C)72 (D)73

BRAT : Iog(g)n >log10’ = n(log5-log4)>7 =n(1-log2—-2log2)>7

=721-73

=>n(1-3x0.3010)>7 =nx0.097>7=n> !
0.097

( A )13 =Aitir  BRIrE1B  FTE3@E  £E=E6E ' WTE

O &} (@) ARILAERE - BB 20 /8 » 55 20

a2/ M@ (A)1540 (B)1640 (C)1560 (D) 1660

k(k +1)

5 @ S E20BE 21018

BT DBKEBL+2+3+--+k=

®vu9ﬂ]s_1§k(k 1)_1[§k2 ik]_—[zoX21><41 2OXZJ] 1540

( B )14 BEMIE  BEMEZIHFeBA SBE--R-T X -2~
B FHSBANET  AIZTBENTEE™RE -
(A)6410 (B)6510 (C)6610 (D) 6710
BEAT - FTR=1ERIEBRDEE—-8 ABMBBIIEE -7 ABMBBISEE
=3°_-3-8.31=6561—-3-48=6510
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( C )15. K (x-2)° - (x+1)° BND x? IBIMREA <
(A)-9 (B)-10 (C)-11 (D)-12
R : (x=2)°(x+1)° BREINP x*1BYH
D (x-2)° BETND T8 (x +1)°BEATNP x B85k » IR
@ (x—2)* BRIV x' T8 (x +1)° BRI TVD x° IB183-M1S
FALA(x-2)° (x +D)° BTN xR cIX® - ¢)x* + X' (=2) - cox°
= (cic; —2cco)x? » HfR#IR cie; —2c)c; =5-16=-11

( B )16. K | x+1|+|x—3|>60@~

(A)—2<x<4 B)x>4Tx< -2
(C)-1<x<3 D)x>3TWx< —1
BRAT e
o N . >
-1 3 3 4

DEXx=>3F ' x+1+x=3>6=>x>4- @D

Q)8 -1<x<30FF>'x+1>0"x-3<0
X+1—-Xx+3>6-24>6 G ©)

REx< -1 x+1<0°x-3<0
—X—1-X+3>6—2-2x+42x< -2

BOQO®E x> 4 x< -2 BPTK —
- 1.
n E—

2
(A )17. R BETEHE X ¥ SEimka—E8 Blatbik=°
3X°+2x+1

4 3)
A) 3 (B)1 © 3 (D) 2

BEAT ﬂ;“mﬂ'lﬁﬁzﬁ = X" +ax+b =k(3x* +2x+1) = 3kx® + 2kx +k
3X"+2x+1

LEBRREIS1=3k » a=2k * b=k Sk==ra==b=

1
3

wlpRF
WIN
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BT -

BT -

( B

BT -

) 18. HHIEREE x 18 * “RWE f(x) =x* +ax+a ZBRAR -8 * BIEH a
HEERD <

(A) —8<a<4 (B) a>4%a<-8
(C) —4<a<8 (D) a>8%a<—4
y
f(x)=x*+ax+a>-8 * YBIFTESH x 4 y=x*+ax+a+8

—y=x’+ax+a+8>0 > HATBEEE x
BlD=a*>-4(a+8)<0 — a*-4a—32<0"
—+(a-8)(a+4)<0°..—-4<a<8 O

) 19. K157 —230x15° + 78x15* —46x15° —5x152 +270x15+50= ¢
(A) —200 (B)—300 (C)—400 (D) —500

[RIV = f(x)=x" —230x° + 78x* —46x° —5x2 + 270X + 50 °

K f(15) BIsK f(x) BREAx —15 2 ERT\

1+ 0-230+78—46— 5+270+ 50 |15
+15+225—75+45—-15—-300—-450

1+15— 5+ 3— 1-20— 30-400 & =400

)20. Xy~ ZEEE‘?I&+\/y—1+\/z—2:%(x+y+z) v Kx-y-z=7

(A)5 (B) 6 (C) 7 (D) 8

x>0>y>1>2>2 2/x+2Jy-1+2Jz-2=x+y+z
Xx—23x+y-2/y-1+2-2J2-2=0

((WX)? —2(dX)+12) + ((Jy=1-2(Jy-D+21) + ((Vz-2)*-2(z-2) +
) =0

Wx =12 +(Jy-1-1?+(z-2-1)?=0

Jx-1=0> Jy-1-1=0>+Jz-2-1=0 > Jx=1- \Jy-1=1

NZ—-2=1>x=1>y-1=1>272-2=1>y=2>72=3=X-y-2=1.2-3=6
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( B )21 {RBNEWE > BRAE 27 IREEHRE <
(A)%’l% (B) £23& (C) 3833 (D) 84735
BEAT : B8R 2 B » BUBBIRR » FTLURESE 2

( C )22 B—ERFRE  {OX - fINERIS SR » I E—BFEZ 45
NSO » & 20 WEFIXAEE—X » BREANRE—EREE
e (A)25 (B) 30 (C) 36 (D) 40

BRAT - HE B
45-20=25
B Xx B0y s 20=20: 25 » x=16
fa3z20 o] 372 5%
..20+16=36
1838
( B )23. EWH 200 ([BEREBN=_NIBHEHE (—A—F > BUEEIZR)
EXE 6 (RN @ BREGERSAZHEAE BEBAEDE—E -
SREASHESEEEZHEE 35 HEMNEDOEERE <
(A) 62 (B) 63 (C) 64 (D) 65
BT PRAEmExE HE=BH

> x+2+x+14+x+3+2+1<200 | DR | 1 | 2 |3 ] 4|5 |6

= | x+2 | x+1
N stS% ' X BA=63 re | X X

o
@
Pl

81 (200—3—2—1—1—2)+3=63§ S

( A )24 E—REBRGHPE aBAEIE LIS B aBAEDE2ET
B aBAZEDBIRT - » Ba.BAZEDEBnEIT  BABBE
27T MAENEBRZDETT 7
(A) agtat+ag+ - +a, (B) ay+2a,+3ag+ «+- -+ +na,
(C) arxaXxagx -+ -+ Xan (D) (142434 ----- +n)Xxa,
BEAT ¢+ 1x(a;—a,)+2x(ay—as)+3(ag—ay)+4(as—as)+ -+ - +n(a, _1—ay)
=a;—a+2a,—2az+3a;—3a,+4a,—4as+ - -+ +na, _1—ha,

=a,t+ataztas+ - --- +a,
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( B )25. A~B~C DIAFOXRIEE » I ERUWNKRPIR -

AEEBE 700 CEB601D KDZED°

(BH—ES 10 3)

=l
B E|B| B | F| R | F | BB | F 2
1| 2 41516 |7 |8/19110]4g
[ B8 &8 /@8 B8 /8 /8|8 &8
AlO | X]TOIX]O]O|I X | X | X|O]T70
Bl OO X | X[ X]O]O|]O|X|X]|T70
C| X | X | X|]OIO | X]|]O|X]O|X]|e60
D O X | X]O]JO|IX|X|O|X|X|?
(A) 50 (B) 60 73 (C) 70 2 (D) 80 1

BT AEHBBATH 78
BRBY 6 AR - 85 (BEXEANE) B 6 BPUAE 6 BIERE » Bltaid (T
Z18[E) 8 4 BB 8 [B1ERE - BIEEIRIERE -
SHEREIERAR/E 18 (O)F4@E (X)) FB6@ (O)Fo9@ (X -

2 NOETEH 148 -

£ C VB XD MBS S 5 HHES DA 60 JREM\BIRETH S -
RiIE EER > DEHHEE 12359108 tEHR60-
FE| B | | B|E || B | F|F| = 2
1123 /4/5/|6 7 /8)9/10] g
=T R s = I = A o R = R = R = I =
AlO|IXOIX]TO|]OI X | X|[X|0O]70
B |O|O| X[ X|IX]|]O]O|O|X|X |70
C I X | X | X]O|O|X]O|X]O]|]X]e60
D O X | X|O|]O| X | X]|]O|X]|X| ? =60
FE| O | X | X | X|TO]O|]O|X]|X|X
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_ -5tEE (& 257)
1. HABRIE -
CINE 1 4 2 5 4 7

2 3 3 4 5 6

[B2] : 1x2x3—4=2 1 2x3x4-5=19 » 4x5x6—7=113-- --- &
1) HETI? 22D -

(12 1 BARAS 10 0 1B 2 B AE#ES 15 1)
7 2 5 10 9 2

2 4 8 2 4 10
(2) b LB SEBIEE -
(BD2%E+ - x - EBEERISEESE > 10)
BT+ (1) BEMRE  Tx2-4x2=6 5x8—2x10=20 * 9x4—10x2=16

BER1. (T-1)x2—-2-4=6 SR 2. T7+2-4+42-1=6
(5—1)x8—10—2=20 5+10—2+8—1=20
(9—1)x4—2-10=20 9+2-10+4—1=4

@ |5 4 7 5 10 7
23 43 ?
3 2 4 3 2 3

OX3+4x2=23 » 1x4+5x3=43 » 10x2+7x3=41
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2. R/ ABCHI=S/BIRAD=6BE=4 ' CF=3
(1) 5% : A ABCRMB=A - (157)
(2) F:KA ABCEVERE ° (10 D)

24T : (1) BC=a ~ CA=b ~ AB=c 4

‘*AD=6°* BE=4°* CF =3

=2:3:4

} 11
J.abic=—:1=:=
43 B

CDII—‘
)
O &

Sa=2t ~b=3t >~ c=4t

a’+b?—c? 2°4+32-47 1
2ab 2.2.3 4

= c0sC =

S./C>90° ../\ ABCARIIA=AF

(2) BEEATVAA ABCZEﬁ%\/ t- —t Steot=20

X BC=2t> AD=6

.'.AABczﬁﬂﬁ%f:%-zt-es = 6t

£t = 6t .'.t:i
J15
48 16415
.\ ABCZHEE6L = —
V15 5
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